BRIDGE SITE NO.:



# TENDER NO. 6761

FOR: Uniform Chip Seal (Oil Supplied by Contractor)

#### **TABULATION OF TENDERS**

ROAD NO.: 16,110,59

6,110,59

LOCATION: Neepawa - Brandon - East Selkirk Areas

LENGTH:

## **SUMMARY OF PRICES**

CONTRACTOR	SECTION 1	SECTION 2	SECTION 3	BID TOTAL
MSO Construction Ltd.	711,760.00	180,810.00	315,700.00	1,208,270.00
Maple Leaf Construction Ltd.	930,000.00	236,250.00	357,500.00	1,523,750.00
West-Can Seal Coating Inc.	964,720.00	245,070.00	381,700.00	1,591,490.00
Borland Construction Inc.	954,800.00	267,750.00	374,000.00	1,596,550.00
Nelson Rivier Construction Inc.	949,840.00	252,000.00	412,500.00	1,614,340.00



## TENDER NO. 6761

**TABULATION OF TENDERS** 

FOR: Uniform Chip Seal (Oil Supplied by Contractor)

ROAD NO.: 16,110,59

BRIDGE SITE NO.:

LOCATION: Neepawa - Brandon - East Selkirk Areas

LENGTH:

SECTION I: Uniform Chip Seal (Oil Supplied by Contractor)

ROAD NO.: 16,110,59

REGION 1, 2, 3

LOCATION: Vicinity of Neepawa WORK ORDER NO.: P03101

DESCRIPTION OF WORK	5071144755		MSO Construc		NAME OF BID Maple Leaf Consti		NAME OF BID West-Can Seal C		NAME OF BID Borland Constru	
	ESTIMATED QUANTITIES	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
Uniform Chip Seal	248,000	m2	2.87	711,760.00	3.75	930,000.00	3.89	964,720.00	3.85	954,800.00
				711,760.00		930,000.00		964,720.00		954,800.00
	BID TOTAL			1,208,270.00		1,523,750.00		1,591,490.00		1,596,550.00



## TENDER NO. 6761

**TABULATION OF TENDERS** 

FOR: Uniform Chip Seal (Oil Supplied by Contractor)

ROAD NO.: 16,110,59

BRIDGE SITE NO.:

LOCATION: Neepawa - Brandon - East Selkirk Areas

LENGTH:

SECTION I: Uniform Chip Seal (Oil Supplied by Contractor)

ROAD NO.: 16,110,59

REGION 1, 2, 3

LOCATION: Vicinity of Neepawa WORK ORDER NO.: P03101

			NAME OF BIDDER		NAME OF BIDDER		NAME OF BIDDER		NAME OF BIDDER	
	ESTIMATED		Nelson Rivier Cons							
DESCRIPTION OF WORK	QUANTITIES	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
Uniform Chip Seal	248,000	m2	3.83	949,840.00						
				949,840.00		0.00		0.00		0.00
	BID TOTAL			1,614,340.00		0.00		0.00		0.00

**TABULATION OF TENDERS** 



## TENDER NO. 6761

FOR: Uniform Chip Seal (Oil Supplied by Contractor)

ROAD NO.: 16,110,59

BRIDGE SITE NO.:

LOCATION: Neepawa - Brandon - East Selkirk Areas

LENGTH:

SECTION II: Uniform Chip Seal (Oil Supplied by Contractor)

ROAD NO.: 16,110,59

REGION 1, 2, 3

LOCATION: Vicinity of Brandon WORK ORDER NO.: P03108

DESCRIPTION OF WORK	FOTIMATED		NAME OF BIDDER  MSO Construction Ltd.		NAME OF BIDDER  Maple Leaf Construction Ltd.		NAME OF BIDDER West-Can Seal Coating Inc.		NAME OF BIDDER Borland Construction Inc.	
	ESTIMATED QUANTITIES	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
Uniform Chip Seal	63,000	m2	2.87	180,810.00	3.75	236,250.00	3.89	245,070.00	4.25	267,750.00
				180,810.00		236,250.00		245,070.00		267,750.00
	BID TOTAL			1,208,270.00		1,523,750.00		1,591,490.00		1,596,550.00



## TENDER NO. 6761

**TABULATION OF TENDERS** 

FOR: Uniform Chip Seal (Oil Supplied by Contractor)

ROAD NO.: 16,110,59

BRIDGE SITE NO.:

LOCATION: Neepawa - Brandon - East Selkirk Areas

LENGTH:

SECTION II: Uniform Chip Seal (Oil Supplied by Contractor)

ROAD NO.: 16,110,59

REGION 1, 2, 3

LOCATION: Vicinity of Brandon WORK ORDER NO.: P03108

DESCRIPTION OF WORK		ſ	NAME OF BIDDER  Nelson Rivier Construction Inc.		NAME OF BIDDER		NAME OF BIDDER		NAME OF BIDDER	
	ESTIMATED									
		UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
Uniform Chip Seal	63,000	m2	4.00	252,000.00						
				252,000.00		0.00		0.00		0.00
	BID TOTAL			1,614,340.00		0.00		0.00		0.00

**TABULATION OF TENDERS** 



FOR: Uniform Chip Seal (Oil Supplied by Contractor)

## TENDER NO. 6761

ROAD NO.: 16,110,59 BRIDGE SITE NO.:

LOCATION: Neepawa - Brandon - East Selkirk Areas

LENGTH:

SECTION III: Uniform Chip Seal (Oil Supplied by Contractor)

ROAD NO.: 16,110,59

REGION 1, 2, 3

LOCATION: Vicinity of East Selkirk WORK ORDER NO.: P01909

DESCRIPTION OF WORK			NAME OF BIDDER  MSO Construction Ltd.		NAME OF BIDDER  Maple Leaf Construction Ltd.		NAME OF BIDDER West-Can Seal Coating Inc.		NAME OF BIDDER Borland Construction Inc.	
	ESTIMATED QUANTITIES	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
Uniform Chip Seal	110,000	m2	2.87	315,700.00	3.25	357,500.00	3.47	381,700.00	3.40	374,000.00
				315,700.00		357,500.00		381,700.00		374,000.00
	BID TOTAL			1,208,270.00		1,523,750.00		1,591,490.00		1,596,550.00



## TENDER NO. 6761

**TABULATION OF TENDERS** 

FOR: Uniform Chip Seal (Oil Supplied by Contractor)

ROAD NO.: 16,110,59

BRIDGE SITE NO.:

LOCATION: Neepawa - Brandon - East Selkirk Areas

LENGTH:

SECTION III: Uniform Chip Seal (Oil Supplied by Contractor)

ROAD NO.: 16,110,59

REGION 1, 2, 3

LOCATION: Vicinity of East Selkirk WORK ORDER NO.: P01909

			NAME OF BIDDER		NAME OF BIDDER		NAME OF BIDDER		NAME OF BIDDER	
DESCRIPTION OF WORK	ESTIMATED QUANTITIES	UNIT	Nelson Rivier Cons	struction Inc.  AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
DESCRIPTION OF WORK	Q0/111111E0	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AWOUNT	UNIT PRICE	AMOUNT	UNITERICE	AWOUNT
Uniform Chip Seal	110,000	m2	3.75	412,500.00						
				412,500.00		0.00		0.00		0.00
	BID TOTAL			1,614,340.00		0.00		0.00		0.00